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xr==xcosh —ysinf and y= Tsinf+ ycosh,

A & C
Sketch the graph of 422 — 4xy + Ty? — 24 = 0.
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Az? + Bzy+Cy*+ Dz + Ey+ F =0

A#? + Bij+Cy®* + Di+ Ej+ F =0. TWMV\

B? —4AC = B2 - 4AC.
‘ B?2 —4AC = —4Aé.i
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B? —4AC = —4AC.
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will be: A~ e _C - g—
i) An ellipse if AC' > 0; -
ii) A hyperbola if AC < 0; M Fuw /%W
iii) A parabola if AC = 0. Lo 5
/
Az*? + Bry+Cy*+ Dz +Ey+F =0
will be: B S A
i) An ellipse if B2 — 4AC = —4AC < 0; B YAc=—4AC
ii) A hyperbola if B2 — 4AC = —4AC > 0;
iii) A parabola if B2 — 4AC = —AC = 0.
Identifying a Conic in Polar Form
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For each of the following equations, identify the conic with focus at the origin, the directrix, and the eccentricity.
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